Maths
End of Year Assessments

Revision Notes

Important Websites:

e Mathswatch: https://vle.mathswatch.co.uk/vle/

You have tasks to complete and videos will help you answer
the questions.

e Corbett Maths: https://corbettmaths.com/

Lots of questions to answer and video clips to help you learn
and revise.

e BBC Bitesize:
https://www.bbc.co.uk/bitesize/subjects/z38pycw




Year 8 Delta:

1 You can identify multiples.

2 You can use and apply the laws of indices.

3 | You can identify a percentage multiplier.

4 | You can add fractions and decimals.

5 | You can simplify algebraic expressions using BIDMAS

6 You can order numbers in standard form.

7 You can calculate a percentage increase.

8 You can bisect an angle.

9 | You can simplify algebraic expressions involving brackets.

10 | You can express a number as the product of prime factors.
You can find the highest common factor and lowest common multiple.

11 | You can solve linear equations with unknowns on each side.

12 | You can convert between standard form and ordinary numbers.

13 | You can use and apply Pythagoras® Theorem.

14 | You can solve problems involving the area of a circle.

15 | You can find the volume of a cylinder.

16 | You can interpret real-life graphs.

17 | You can identify a vector transiation.

18 | You can convert a recurring decimal into a fraction.

19 | You can solve percentage problems.



8/1 Change recurring decimal to fraction

8/3 Standard Form

If x = 0.54545
100x =54.545454

If x = 0.4444444
10x = 44444444

Ox=4 99x = b4
x=4 x = b4
9 99

o Equal distance from two points
perpendicular bisector

T

N

angle bisector

~ax 10"

a is between 1 & 10; n is an integer

~ When mult/div in standard form,

work out number part separate from the

power of 10 part

e.g. 3x10° x 4x103% = 12 x10% = 1.2 x 10°
B T

~ With a calculator use | EXP|or |x10"|

7/12 Pythaqgoras Theorem

o Equal distance from two intersecting lines -

6/2 Increase/Decrease by a percentage

e To increase £12 by 5%
= 1.05 x £12 (100% + 5% = 105%)
OR
= £12 + 5% of £12

e To decrease £50 by 15%
= 0.85 x £50 (100% - 15% = 85%)
OR
= £50 - 15% of £50

For this right angled triangle:
i hypotenuse

a

b

az:bz*ca

o If finding the hypotenuse
ADD the squares of the other 2 sides
Then square root

o If finding a shorter side
SUBT the squares of the other 2 sides
Then square root
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Percentage change

Cadlculate the percen+age decrease

Key point # from £400 to £280
You can calculate the percentage Work out the difference £400 - £280 = f120
change using the formula Write the difference over the orignal as a fraction
percentage change = and change to a percentage
actual change x 100
original amount 120 30
— = —= 307
400 100
A\ 4
+4

Repeated percentage change

Repeated Percentage Change

Formula: Years
Quantity x Multiplier

Abi deposited £160 in a bank.
She earned
20% compound interest every year.

How much was in the account after 3 years?

Multiplier:
=100% + 20%
=1.0+0.2
=1.2

160x1.23= £276.48

Recurring decimals

Worked example ’“&

Write 0.7 as a fraction.
. /’__,{Call the recurring decimal n. ]
0.7 =07777771..=n
WOne 111177117 —__(Muitip!y the recurring decimal by 10. J

WOn—n=17777777.. - O1777777..
Subtract the value of n from the

= AA00000.. value of 10n so you get all the
In=17 decimal places to zero.

i A
HE® ﬂsmve the equation. )







